Ryan Lanman output
A:\>pa2 < c:\temp\p2goodin.txt

 THIS PROGRAM WILL ACCEPT AN UNSPECIFIED NUMBER OF

 3-DIGIT INTEGERS INTO AN ARRAY OF SIZE 35. IT WILL

 THEN SORT THE DATA AND OUTPUT DETAILS ABOUT IT

 PLEASE ENTER A 3-DIGIT INTEGERS WITHOUT SPACES

 SEPARATING THEM. THIS PROGRAM WILL ONLY ACCEPT

 FIVE INTEGERS PER LINE:

  666  616  -12 **** **** **** ****

  555  323  -35 **** ****    8 ****

  444  345  -42 **** **** **** ****

  333  456  -91   -1 **** **** ****

  222  987  -23    8 **** ****    1

  222  323  -91   -1 ****    8    1

  333  345  -42    8 **** **** ****

  444  456  -35 **** **** **** ****

  555  616  -23 **** **** **** ****

  666  987  -12 **** **** **** ****

 THE MAXIMUM VALUEIN THE ARRAY IS: ***

 THE MINIMUM VALUE IN THE ARRAY IS: -91

 THE AVERAGE VALUE OF THE ARRAY IS: ******

 THE FIRST OCCURRENCE OF THE MAX VALUE BEFORE SORT IS: 4,1

 THE FIRST OCCURRENCE OF THE MAX VALUE AFTER SORT IS: 4,5

 THE PROGRAM HAS COMPLETED EXECUTION

A:\>pa2 < c:\temp\p2bad.txt

 THIS PROGRAM WILL ACCEPT AN UNSPECIFIED NUMBER OF

 3-DIGIT INTEGERS INTO AN ARRAY OF SIZE 35. IT WILL

 THEN SORT THE DATA AND OUTPUT DETAILS ABOUT IT

 PLEASE ENTER A 3-DIGIT INTEGERS WITHOUT SPACES

 SEPARATING THEM. THIS PROGRAM WILL ONLY ACCEPT

 FIVE INTEGERS PER LINE:

 YOUR INPUT HAD AN ERROR

A:\>pa2 < c:\temp\p2full.txt

 THIS PROGRAM WILL ACCEPT AN UNSPECIFIED NUMBER OF

 3-DIGIT INTEGERS INTO AN ARRAY OF SIZE 35. IT WILL

 THEN SORT THE DATA AND OUTPUT DETAILS ABOUT IT

 PLEASE ENTER A 3-DIGIT INTEGERS WITHOUT SPACES

 SEPARATING THEM. THIS PROGRAM WILL ONLY ACCEPT

 FIVE INTEGERS PER LINE:

  666  616  -12  111  212  987  132

  555  323  -35  222  434  212  498

  444  345  -42  333  454  432  713

  333  456  -91  444  567  345  543

  222  987  -23  555  456  798  721

  222  323  -91  111  212  212  132

  333  345  -42  222  434  345  498

  444  456  -35  333  454  432  543

  555  616  -23  444  456  798  713

  666  987  -12  555  567  987  721

 THE MAXIMUM VALUEIN THE ARRAY IS: 987

 THE MINIMUM VALUE IN THE ARRAY IS: -91

 THE AVERAGE VALUE OF THE ARRAY IS: 397.51

 THE FIRST OCCURRENCE OF THE MAX VALUE BEFORE SORT IS: 2,5

 THE FIRST OCCURRENCE OF THE MAX VALUE AFTER SORT IS: 2,5

 THE PROGRAM HAS COMPLETED EXECUTION

A:\>

I found:

In the input that doesn’t fill the array the average or max value were returned as *s, also there were some strange values in some of the cells for that same input.   Every thing else worked fine.

